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OMIHZA =F HHOY ST & X (& =AM
I =2XEal) 5,000
Lolg &g4d3 MY 135,720 112,832 22,888
& 33,930
Al 101,790
307 giztol A 135,720 112,832 22,888
& 33,930
Al 101,790
11T AISIEXAIEEX 135,720 112,832 22,888
OLQl3 483t AFY 135,720
== 33,930
Al 101,790
HNFE 229 (sA 32,400 42,000 A9,600
o= 16,200
Al 16,200
307 2I2t0| & 32,400 42,000 A 9,600
o=} 16,200
Al 16,200
02 QIZEEAAIRE E X 32,400 42,000 A9,600
oOFZE FzRY HEH 32,400
& 16,200
Al 16,200
MNE 2SS ANIAL 131,000 0 131,000
= 117,900
Al 13,100
307 2iz2tol & 131,000 0 131,000
= 117,900
Al 13,100
02 QIZ2IA AAIE E X 131,000 0 131,000
oA BEES XNEAL 131,000
= 117,900
Al 13,100
SOoAE XA 24,441,286 13,710,396 10,730,890
= 4,413,865
& 6,644,037
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2N
X ZH -
L= B
el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 11,383,384
| 2,000,000
Lo=ia 24 4,285,000 3,926,000 359,000
307 2Iztol ™ 4,285,000 3,926,000 359,000
05 RIZHRI & 3 4,285,000 3,926,000 359,000
O =& oAyl 4,100,000
O =Xa 2dHl 185,000
LolsXa SM SEEY 123,230 123,230 0
< 36,969
Al 86,261
307 2Iztol ™ 123,230 123,230 0
< 36,969
Al 86,261
11 AMISIAIEE XS 123,230 123,230 0
OLel=X& BAX Ed8E 123,230
= 36,969
Al 86,261
HFA Eolglat AE 4,000,000 0 4,000,000
Al 2,000,000
T 2,000,000
401 Al HI & 28I 4,000,000 0 4,000,000
Al 2,000,000
T 2,000,000
01 A& HI 4,000,000 0 4,000,000
OF=Al olgl2 gy & el2ad 4,000,000
Al 2,000,000
T 2,000,000
Lol=sRa dizz0y 29 X2 299,200 279,400 19,800
< 23,922
Al 275,278
307 21201 A 299,200 279,400 19,800
< 23,922
Al 275,278
11 AISI S XA E X 299,200 279,400 19,800
oko=EXa dHEzzOd 29 XA 299,200
= 23,922
Al 275,278
NEd 2g=sX2 AE 60,000 0 60,000
401 Al I 28I 60,000 0 60,000
01 A& HI 60,000 0 60,000
OZAIZeIAHE Z2H(HE) Y 40,000
ONMEH SE=X2 4432 20,000
LQISIEE 2SHLMHIA 22l At 165,212 148,408 16,804
< 49,570




2N

Ha: o3 =2X 5T
-0
w

Sl LolAE X (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 115,642
307 glz2tol & 165,212 148,408 16,804
< 49,570
Al 115,642
11T MISXASEEX 165,212 148,408 16,804
OLQEE 2sHEAMHIA 22lAt 165,212
< 49,570
Al 115,642
QAAE F2LA DIHAAMY 15,000 15,000 0
301 LA F 15,000 15,000 0
12JIE24 3 15,000 15,000 0
OQLUANE H2ZA 2E TAME 15,000
SHSEEA 2228 N 633,370 578,489 54,881
09 HMES 613,370 546,489 66,881
01 SAL- SHINTES 613,370 546,489 66,881
OsSXANS3ZX 2el2d X 613,370
404 SASHIEZEES 20,000 32,000 A 12,000
01 SAL- SHHE2EES 20,000 32,000 A 12,000
OSASJAZ A 2elAl&FHl 20,000
TSt & SotE UEALY 607,140 0 607,140
= 500,000
< 107,140
401 Al HIZ 201 8] 607,140 0 607, 140
= 500,000
< 107,140
01 A& HI 607,140 0 607, 140
OdF=s3std & SE SUSAY 607,140
= 500,000
< 107,140
Loz A4 X 645,483 616,744 28,739
= 451,838
< 38,729
Al 154,916
307 21201 A 645,483 616,744 28,739
= 451,838
= 38,729
Al 154,916
10 AL SXNAIEEE2EHEX 645,483 616,744 28,739
OLeRELZAL XA 645,483
= 451,838
< 38,729
Al 154,916
LOolMEAL K& 8,056,107 7,076,705 979,402
< 5,639,275
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2N
X ZH -
L= B

el

0l &t o

=

i
2

Al

2,416,832

= M

8,056,107

5,639,275
,416,832

7,076,705

979,402

f

Al

2
8,056,107
8,056,107
5
2

,639,275
,416,832

7,076,705

979,402

Al

464,400

130,030
334,370

525,360

A 60,960

307 glztol &

H

Al

464,400

130,030
334,370

525,360

A 60,960

= M

464,400

464,400

130,030
334,370

525,360

260,960

CRAANE HESAY

= W

3,256,300
,583,950
329, 145
343,205

no

420,060

2,836,240

402 RI2FX=01 M

= N H

w

,256,300
,583,950
329, 145
343,205

no

420,060

2,836,240

o
N
e
S
-
r
>
Q
P
°
>
=
o

©
-
o
0}
02
>
W H
Jor
O
S
or
H
N
>
Q

=z N H

w

,256,300
,256,300

,583,950
329, 145
343,205

n w

420,060

2,836,240

EHS0(

H
e
0z
]
=
x

= Hn

30,000
27,000
2,100
900

30,000

307 21201 A

= Hn

30,000
27,000
2,100
900

30,000

1A SXAIE E =

OZHSO (- MEAL)

= M W

30,000

30,000
27,000
2,100
900

30,000

=
Ll
=)
H
e
0z
121
=
x

Mn o

945,642

851,077
66,195

945,642
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AN GEIEY
HE: =3 =X 58
el LOIAIA X @ (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 28,370
307 glz2tol & 945,642 0 945,642
= 851,077
< 66,195
Al 28,370
11T M SXASEEX 945,642 0 945,642
OMASO (= MEAH) 945,642
= 851,077
< 66,195
Al 28,370
LO0IBAE RAES 565,000 0 565,000
402 RIZ2EXt20l ™ 565,000 0 565,000
01 2IZt Xt 2 AL E = (REM &) 565,000 0 565,000
OLQ0IEANE RAES 565,000
Losxa JsEZ (= EFHA) 191,500 0 191,500
< 153,200
Al 38,300
402 2I2H X201 M 191,500 0 191,500
< 153,200
Al 38,300
02 22t 2 A EZ(OI X TH ) 191,500 0 191,500
okLel=xa Jlsed 191,500
< 153,200
Al 38,300
st sl MFAIXNG JsEB2 (= 200 A 15,000 0 15,000
< 12,000
Al 3,000
402 RI2EX=20| A 15,000 0 15,000
< 12,000
Al 3,000
02 U2 EALEZ(0IETHR) 15,000 0 15,000
OUEt s dFAIXIS JIsES 15,000
< 12,000
Al 3,000
OIS Lo SXHEH JIsE2(Z Z00Aa) 19,702 0 19,702
< 15,762
Al 3,940
402 RIZ2EXt20l ™ 19,702 0 19,702
< 15,762
Al 3,940
02 RIZt 2 AL EZ (OIS ) 19,702 0 19,702
octll=2 Lo=XdH JIs2H 19,702
< 15,762
Al 3,940
ANLIOEY JIsB2 (& ZFO0laH) 50,000 0 50,000
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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 40,000
Al 10,000
402 RI2EX=20| A 50,000 0 50,000
< 40,000
Al 10,000
02 QI EAISEZ (OIS ) 50,000 0 50,000
OALINZEE JIsEd 50,000
< 40,000
Al 10,000
LoEN2 JsEd 14,000 0 14,000
401 AIEHI L 2 CHYI 14,000 0 14,000
01 A& HI 14,000 0 14,000
ore=sia Js2d 14,000
Mot=er=X X& 19,746,505 16,023,848 3,722,657
= 3,580,130
J| 32,406
< 2,122,380
Al 14,011,589
Lo ESEMUIA ALY 5,514,610 0 5,514,610
= 3,580,130
< 537,025
Al 1,397,455
307 21201 A 5,514,610 0 5,514,610
= 3,580,130
< 537,025
Al 1,397,455
11T ALSI S XA E X 5,514,610 0 5,514,610
OLQStESES ML ALY 5,514,610
= 3,580,130
< 537,025
Al 1,397,455
SHUSSHML SSAHEAHIA 2 69,612 70,216 A 604
J| 32,406
Al 37,206
307 izl & 69,612 70,216 A 604
J| 32,406
Al 37,206
10 AL SXAIEEE2EHEX 69,612 70,216 A 604
OSHUSSHMY S=2¢4d Milas 29 69,612
J| 32,406
Al 37,206
f=2 F2A4E A 1,055,512 1,036,230 19,282
< 156,750
Al 898,762
307 21201 A 1,055,512 1,036,230 19,282
< 156,750
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SN 8IS
=% =

¥y o5 =X 53
Sl I =X X EERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 898,762
11T MISXASEX 1,055,512 1,036,230 19,282
Ofz 3249 XA 795,750
< 156,750
Al 639,000
oZdzAY Bxodg X 259,762
SHLQ S2H XA 112,900 112,900 0
301 LEHZ 112,900 112,900 0
01 MI2EZE 06z 112,900 112,900 0
OsSHL =24 X 112,900
Hs2H MAS MOt AAHE 574,380 574,380 0
< 137,970
Al 436,410
301 LEEAZ 22,500 22,500 0
12 JIE2 4= 22,500 22,500 0
OHs=H MIt=el AAE NS AA 24 22,500
307 21201 A 551,880 551,880 0
= 137,970
Al 413,910
11T AL S XA E X 551,880 551,880 0
OHS=H It AAHE 551,880
< 137,970
Al 413,910
MOt =XIAE XI& 12,176,059 9,298,699 2,877,360
= 1,217,606
Al 10,958,453
307 glz2tol & 12,176,059 9,298,699 2,877,360
< 1,217,606
Al 10,958,453
10 ALl SXAIEEHE 2 H EX 12,176,059 9,298,699 2,877,360
OMIMIH=A=XAIE X 12,176,059
< 1,217,606
Al 10,958,453
MOt IS XAIE BAR S8 119,880 119,880 0
< 35,964
Al 83,916
307 21201 A 119,880 119,880 0
< 35,964
Al 83,916
11T MISRASEX 119,880 119,880 0
OMIt-A=SXAE SAA S8 119,880
= 35,964
Al 83,916
COIHOIANONAE 2 123,552 123,552 0
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M 08I S
HE: =3 =X 58
Ehel: Mot ol =X XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 37,065
Al 86,487
307 glz2tol & 123,552 123,552 0
< 37,065
Al 86,487
10 ALl SXAIEEE 2 H EX 123,552 123,552 0
OeldooidE 2 123,552
< 37,065
Al 86,487
G2 3tALE X & 1,892,019 1,517,798 374,221
J| 568,285
< 321,340
Al 1,002,394
Ct23ALSI R & 1,892,019 1,517,798 374,221
J| 568,285
< 321,340
Al 1,002,394
Ct2sttEXNJHEH 2SR 310,800 200,000 110,800
J| 115,400
< 34,620
Al 160,780
307 glz2+ol & 310,800 200,000 110,800
J| 115,400
< 34,620
Al 160,780
11T MISAASER 310,800 200,000 110,800
OUZsIIEXNJEEH 2SXE 310,800
J| 115,400
< 34,620
Al 160,780
CENSNHEH = 58,800 32,400 26,400
201 Let249] 58,800 32,400 26,400
01 At 22/l 58,800 32,400 26,400
OUZIEXNJEH eX2 58,800
CENECH 223 dFXNE 13,000 16,000 A 3,000
07 @120l & 13,000 16,000 A 3,000
02 IZtE M AHEE 13,000 16,000 A 3,000
O Met s S20 . HEZH (AEE
S E) 3,000
OZE0=04 UesoF Ol (dFAHLE
HEelsl) 4,000
OZEI=HE HdEXUAE HSXA (ALt
S E) 3,000
OLEs |44 Dl (2RsAME LS
oEgl) 3,000
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P~}
CtE3tALS X1 &
Ct23tAtal X & fEH)
= _ — d =
SA - B (SH) - MRAY - BYS e 2
s & HtHde S d2usAHEA X2 316,332 241,992 74,340
J| 147,366
& 44,210
Al 124,756
307 21201 & 316,332 241,992 74,340
J| 147,366
< 44,210
Al 124,756
11T M SRAISE EX 316,332 241,992 74,340
OXHLs ¥ THYEsS UM A X2 316,332
J| 147,366
S 44,210
Al 124,756
=3to ¥z 4 CGEsot=n &M 13,000 13,000 0
201 Let24E] 10,000 10,000 0
03 &AL2 Z I 10,000 10,000 0
O=23te e 40 U230 M 5,000
O8t= 1% =3 M 5,000
301 LetEH S 3,000 3,000 0
09 HALAMHIXI &= 3,000 3,000 0
O23te F¥Es g0 U2tz M 3,000
CtE3otE At 2tel X3 61,298 59,260 2,038
J| 30,649
= 9,195
Al 21,454
307 glztol & 61,298 59,260 2,038
J| 30,649
=) 9,195
Al 21,454
11T MISRASEX 61,298 59,260 2,038
OL=23ItE Aol 22l X& 61,298
J| 30,649
=) 9,195
Al 21,454
ChE NS XN HEH SAE XA 27,320 27,700 A 380
< 10,928
Al 16,392
307 21201 & 27,320 27,700 A 380
< 10,928
Al 16,392
10 AL SXNAIEEE2EHEX 27,320 27,700 A 380
OC=INEXNFHEH SAtH X 27,320
=) 10,928
Al 16,392
ChE3NEXNHEH SAL = 110,770 80,640 30,130
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AN GEIEY
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 16,671
Al 94,099
307 glz2tol & 110,770 80,640 30,130
< 16,671
Al 94,099
10 ALl SXAIEEE 2 H EX 110,770 80,640 30,130
OUIZSIEXNALE BSAR =& 110,770
< 16,671
Al 94,099
0lsdN I8 =4 56,650 53,700 2,950
J| 28,325
< 8,498
Al 19,827
307 21201 A 56,650 53,700 2,950
J| 28,325
< 8,498
Al 19,827
11T MISXASEEX 56,650 53,700 2,950
oolEedd IsEd =4 56,650
J| 28,325
< 8,498
Al 19,827
ChE3tE Xt ogg X 98,460 91,950 6,510
J| 49,230
< 14,769
Al 34,461
307 gl2tol & 98,460 91,950 6,510
Jl| 49,230
< 14,769
Al 34,461
11T M 2XAS EX 98,460 91,950 6,510
OUZsItE e X 98,460
J| 49,230
< 14,769
Al 34,461
ChE3otE LS00l At 104,000 108,000 A 4,000
< 20,800
Al 83,200
307 glz2+ol & 104,000 108,000 A 4,000
< 20,800
Al 83,200
11T MISRASEX 104,000 108,000 A 4,000
OU=23IIE DEULS0l A 104,000
< 20,800
Al 83,200
=24 0i=ssd 29 146,090 125,909 20,181
< 51,132
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M 08I S
H: 2SAIS A&
R U2SAIS X & (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 94,958
307 2iz2to| A 146,090 125,909 20,181
&< 51,132
Al 94,958
11T AISIEXAIEEX 146,090 125,909 20,181
o224 ossty 249 146,090
o= 51,132
Al 94,958
ChestaAd A2 XS 10,000 10,000 0
=} 4,000
Al 6,000
307 QI2t0| ™ 10,000 10,000 0
& 4,000
Al 6,000
11T A EXAIEEX 10,000 10,000 0
ottestasyd Az X 10,000
= 4,000
Al 6,000
St=0Hus 29 X& 20,009 22,163 N2,154
J| 10,005
= 3,001
Al 7,003
307 2Iz2t0| & 20,009 22,163 N2,154
Jl 10,005
= 3,001
Al 7,003
11T AISIEXAIEE X 20,009 22,163 N2,154
ost=0ns 2FAA 20,009
J| 10,005
= 3,001
Al 7,003
Z2E010X & - HEANHA X 82,527 80,280 2,247
J| 41,262
= 12,380
Al 28,885
307 gizto| & 82,527 80,280 2,247
J| 41,262
= 12,380
Al 28,885
11T A EXAIEEX 82,527 80,280 2,247
OZZE0|2A & - HAAHIA XA 82,527
Jl 41,262
== 12,380
Al 28,885
Z2EQCX HHgEH D= 21,000 15,300 5,700
o= 8,400
Al 12,600
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M 08I S
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 21,000 15,300 5,700
< 8,400
Al 12,600
11T M SXASE EX 21,000 15,300 5,700
OZS0l2X HHUEHUR 21,000
< 8,400
Al 12,600
ZE0I8X sHAHSE XA 56,000 50,000 6,000
< 22,400
Al 33,600
307 glz2+ol & 56,000 50,000 6,000
< 22,400
Al 33,600
11T MISAASER 56,000 50,000 6,000
OZE0I2A sHAFH=E X& 56,000
< 22,400
Al 33,600
ZE0I2A e SHHI X & 20,000 18,000 2,000
= 8,000
Al 12,000
301 LeEBAF 20,000 18,000 2,000
< 8,000
Al 12,000
01 MI28HE+06l= 20,000 18,000 2,000
OZ&0l2A st stHIXI& 20,000
< 8,000
Al 12,000
Ct23t0lFB 2 HAHH 2 125,833 82,435 43,398
< 25,750
Al 100,083
307 glz2tol & 125,833 82,435 43,398
= 25,750
Al 100,083
11T M Z2XAISE EX 125,833 82,435 43,398
OUZsoI=0EefAadH 29 85,833
< 25,750
Al 60,083
oAZe22 X dH 2Z X 40,000
Z40H0I=HEESAIE 2 XA 211,560 175,129 36,431
J| 132,453
< 22,063
Al 57,044
307 glz2tol & 211,560 175,129 36,431
J| 132,453
< 22,063
Al 57,044




A=
CI23HAIS X &
CtE23HALS X1 o &)
2 S 4
M- B B (BH) - MSA Ol &F o4 %Ei HRE2
11T A EXAIEEX 211,560 175,129 36,431
OZHINN0IFTHAEES A 211,560
J| 132,453
o= 22,063
Al 57,044
ZATHOIFTHEESAIE SAHXN =& 12,580 8,440 4,140
& 3,774
Al 8,806
307 QI2t01 & 12,580 8,440 4,140
& 3,774
Al 8,806
10 MM SAANEEHESIGH 2 12,580 8,440 4,140
OZ=I0H0IFHAEESAIA 12,580
& 3,774
Al 8,806
ZSIH0IFTHEESAIE oA 3,000 5,500 A 2,500
Jl 2,100
= 300
Al 600
402 LA X201 A 3,000 5,500 A2,500
J| 2,100
o= 300
Al 600
02 BIZEXI2 AL E X (0l & TH 3,000 5,500 A 2,500
OZ&IH0FTHEESA 3,000
J| 2,100
& 300
Al 600
ALHOIFOHLBSAM §4 10,000 0 10,000
J| 10,000
307 2iztol & 10,000 0 10,000
J| 10,000
11T AISIEXAIEEX 10,000 0 10,000
OZAIIN0I=THAEESAIE EAX IHEXNH 10,000
J| 10,000
0PIl Z2E0/F=0HA COIS A 2,990 0 2,990
J| 1,495
= 449
Al 1,046
307 QI2t0| ™ 2,990 0 2,990
J| 1,495
=} 449
Al 1,046
11 A EXAIEEX 2,990 0 2,990
OOt Z2E0F0UHHY 2,990
J| 1,495
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SAD SIS
HH: UGSSAMS X
S CE2SAIS X & (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= 779
Al 1,046
HHSAHH(HLIIS ) 97,248 93,336 3,912
Jl2ZH (8ot ) 97,248 93,336 3,912
JI2du (&8It 97,248 93,336 3,912
201 LEr2 Y| 50,688 48,216 2,472
01 AR 22| I 49,688 48,216 1,472
Ot =2H| 23,200
o994 7,000
OF==1:l 19,488
02 3524l 1,000 0 1,000
os8xY A2/ 1,000
202 04| 41,760 40,320 1,440
01 2LHOHI 41,760 40,320 1,440
OJI2g2F&A| 41,760
203 € R =&lY| 4,800 4,800 0
04 2SI L RF=AH| 4,800 4,800 0
ORAN2IEYERFAH| 400,000& 128 4,800
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